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Part-1 P-II-MABCS-JCJA-18
MATHEMATICS
SECTION-A : 80 Marks

Instructions : Each question under this section carries two marks. Please read each question

carefully and answer them by selecting the right one out of the multiple answers given below each as
A, B, C and D.

1. A mixture of 40 litres of milk and water contains 10% water. How much water should

be added to it so that water will be 20% in the new mixture ?

40 AGQ YA G A& Ageea aldia adle aeqel 10 | 92 Tgé6a 6a60 A& AR 9o

F966Q ISR ARANE 999! 20 629 ? M‘/ y
A)25
ou Techofworld.In 2%

2. Abook seller gets 10% profit after giving 10% dlscount on the marked price of a book
If the marked price is Rs. 77, then find out the cost price of the book ?

68 Q8 6RIRIAT H6E QTR 9%1@ MY QAEQ 10% QLIG 6291 A6Q 111 10% RN K98 | 96 @@
QdEQ QI 77 9@l 6RHIKIRAN GIRIERER QE5Q G ?]ﬁh‘{ e@6Q ?

A)Rs. 70 B) Rs. 77
C) Rs. 63 o D) Rs. 60

3. If(Va + b)=17and (va - ¥b) = 1, then find vab |
A9 (Va + V) =176 (Va — b) = 16069 Vab @ R4 6966 629 ?
A) 17 | B) 18
C)72 D) None of the above

4. In a school, the ratio of boys and girls is 4: 5. When 100 girls leave the school, the
ratio becomes 6 : 7. How many boys are there in the school ?

| 691G TIRACA QIRR 6 ARFITA AFAIQ 4 5 1 60696969 100 QIR 638 GouIna 216
@mmlm 6G6Q QIR B AIFRIFQ 2AQAIC 6 : 7 g\q | 6569 SQIRAA AR AFYI 66 ?

200 | B) 1300 ~ : m &

—

C) 1400 - D) 1500 —_ T )
P-II-MABCS-JCJA-18 | o — P.T.O.
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5. The price of wheat is decreased by 25% and its consumption increases by 25%. Find
the new ratio of the expenditure with that of the initial expenditure.

9209 AU I6RGI 25 GFIGER AR QEAQ §EREI 25 FRAIN | 6969 ER §F B a6
CURYQ! PR 2AGAIG 6060 629 ?

A)3:4 B)5 : 4 C) 16 : 25 D) 15:16
6. Three bells chime at intervals of 48, 60 and 90 minutes respectively.. If all the three
bells chime together at 10.00am at what time will all the three chime again that day ?

P6RIT Qg QaIFER 48, 60 G° 90 ffe 22q6a QI6E, 94 A Q4 9o IR AFXER AR
10.00 am 6@ QI6E, 666@ YACIQ 66 ANAER 62T F6IT AL U@ ANAER AR ?

A)1.00pm ~  B)2.00pm C) 8.00 pm - D) 10.00 pm
7. Find the value of ——~ _——_1 1 _ & 1 _ -
V9B BT JT-v6 Vo5 54
1 1 1 1 1

ﬁ_ﬁ_ﬁ_ﬁ+ﬁ_£—£_ﬁ+ﬁ_ﬁQﬂﬁ%%@?

Techofworld.In

A)1l B)1/3 C)5 D) None of the above

8. The difference between the cost price and the selling price of an article is Rs. 240. If
the profit is 20%, the selling price is ?

691G\ AQIEa QEIGIF 99° FRAIA Q AR 240 O | AT GIQ FETE! 20 AR 94 | 696@ 697

aqIga SRR 6966 ?
A) Rs. 1440 | B) Rs. 1400
C) Rs. 1240 D) Rs. 1200

9. The average age of 4 members of a family is 25 years. If the head of the family is |
included in this group, then the average age increases by 20%. Find out the age of the |
head of the family. .
601G QERIaa SIRRdRa AT QAA 25 oF | A& YFIeE Ade TAIRg qsiig aaIang,

666 6QFINGA ARILTIR LAY FFRR! 20 98 AN | 6069 UFRING FHNT QU 696E ?

A) 45 years : B) 50 years
- C) 55 years D) 60 years

P-II-MABCS-JCJA-18
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10. A man invests = of his capital at 7% p.a, %at 8% p.a, and the balance at 10% p.a. If

his annual income is R, 561, the capital is ?

9661 6R1Q 61 AR 9B - &% <IFe 90l 7 206, = 26 Qfia 40091 8 210 QA

BEIRGR NG 2198 21°g 9699l QFR 10 28 PUEA HFIAEA | I GITQ CAIRGIR 561 oG]
4, 6669 GIFQ AP Y& 6760 ?

A) Rs. 5400 B) Rs. 6000

C) Rs. 6600 . D) Rs. 7200

11. A,BandC can do a work in 20, 25 and 30 days, respectively. They undertook to finish
the work together for Rs. 2220, then the share of A exceeds that of B by ?
A,B@° C 69115\ QIA1Q Q219661 2089, 2580 Ie° 30806Q 699 QACING | 6QFIEe 698 Qg
@l AIETER 2220 SFISR 6618 FARIQ 9B GAYER | 6668 AQ Z°ERIR BA 2°HNR OIq 6960

2124@ ? Techofworld.In

A) Rs. 120 B) Rs. 180 C) Rs. 300 D) Rs. 600

12. The length of a rectangle is increased by 60%, by what percentage would the width
has to be decreased to maintain the same area ?

601G 2I0E6RSa 63diq 910Q%I 60 QQIR, SITIR g9q 90Q%I 6960 FARAER, AACEILTA
6T AFIR Q@R ?

A)371% - B)60% C)662% D) None of the above
13. A sum of money placed at compound interest becomes double in 5 years. In how

many years, it would amount to 8 times of itself at the same rate of interest ?

9@ 9998 QuI6q 6Q1ET PR 5 QFER 2 8l 99, 656@ 6960 QT6R 69T T ARID QRIRIQER
8 981629 ? ‘ ’

A) 7 years B) 10 years C) 15 yeérs . 12) 20 years

14. The average of 50 numbers is 38. If the two numbers 45 and 55 are not considered,
what will be the average of the remaining numbers ?

506 QeHIo-2ANIAR 38 | AT 628 QG IR QIQ 45 3 559 QIQ QAULIN, 6369 21T LI
QLR 6R6S 629 ?

A) 36.5 B) 37 C) 375 D) 37.52

P-II-MABCS-JCJA-18

P.T.O.
- oo T = T% 2y %R .2
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15. A, B and C entered into partnership by making investments in the ratio 3: 5 : 7. After
a year, C invested another Rs 3,37,600 while A withdrew Rs. 45,600. The ratio of
investments then changed to 24 : 59 : 167. How much did A invest initially ?

A,B 3 C 5094 2°910I9 QI96a 66Ie- QUeaINsa 3 : 5 : 7 89U g& 7694 @6m | 6315
Q¥ 96Q 'C’ 6QT QUQQUNER 3,37,600 65 2@ GE F69E AMIQ A’ GI9 AGRURR 45,600 G
QIS AR | 61 ACA VIFQ 2°GRINA AUGAIS QQFAIR 24 1 59 : 167 62 | G 626M ALK “A’
6@66 gBGeas @t ?

A) Rs. 45,600 B) Rs. 96,000

C) Rs. 1,41,600 | D) None of these

16. If the rate of interest be 4% per AT for first year, 5% per annum for second year
and 6% per annum for third year, then the compound interest of Rs. 10000 for 3 years
‘will be ? :

A% gele eFa QUaTIA §19R0! 4, §019 a8 QIARIA F6FSI 5 I8° §O16 QER QIR F6Ra)
6 94, 696% 10,000 SR 3 ATQ 9GE QoI 6866689 7 |

N \ l |
@’GQ ~ Ayrs. 157520 1 €chofworld. 18 rs. 1600 1
— C) Rs. 1625.80 D) Rs. 2000
: a,:)/ 17. The monthly salary of A, B and C is in the proportion of 2 : 3 : 5. If C’s monthly salary
9['9 is Rs. 1200 more than A’s monthly salary, B’s annual salary is ? ’

Tl < A, B3 Ca fI3e @i 2gale 2 : 3 : 5 | 9§ 'C’'Q I8 @afll ‘A’Q A1dQ QI0IQ 1200 9

12 M’ = ) A
QO aR@ g\'], 606 ‘B’ QI@Q.QQ?‘II CQ60 7 . _ oot 15 | .
A) Rs. 14400 B) Rs. 24000 cab= 1™ *O
; x - 129
o C) Rs. 1200 D) Rs. 2000 ¥

18. ‘A’ began a business with Rs. 21000 and ‘B’ jolined afterwards with Rs. 36000, if the
profits at the end of the year are divided equally, then find out after how many

months ‘B’ joined with ‘A”?

9| _ .
%Q.)/q ‘A’ 21000 SFIER 6EITN QB 2IAR PRI I ‘B’ 360006 69 BI' AT QIS 6AR |
Agﬁl QU6aT6Q MIAg AT AAIR AGEA Q€ QLI 6669 B’ 6066 AIA T6Q ‘A’ ATG 6419 699
. GL .

0o Rl | ,
BV E! | | 19 S 2

97,67 A) 3 months B) 5months o

(O ‘ . . 9b et \p1O"
C¥ 7 months | D) None 4 jé/ a9
. /,{7
P-II-MABCS-](X“A-IS, : ' 5o il
3 9y g—b‘ ,_0 « '“L
o0 y 'y (008¥ . goo 1.y )y al
e \A\}&Q& BN (eo— 50 % e B kDT
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19. 1If V33 = 5.643, then the value of \/% is ?
QG /33 =5.643, 606@ \/E Q MY 6Q6E ?
. 11 ' A
A)0.513 o B) 0.315
C)1.35 D) None of the above
20. Five times of a positive integer is equal to 3 less than twice the square of that number.
Find the number ?
661 ARIAR ATHIQ 561 SI2Ia @60 GRYS 0IQ 3 |9, 6968 A°HIT 69667 § K:gzﬁ- 3
3 ) BT K -3
A)3 B) 13 C) 23 " D)33 0 % < g 3 -
: _ . ' - gelep)~s5(
21. If(a+Db):(a—-b)=5:3, then find (a2 + b?) : (a2 —b?)
Q@ (a+b): (a—b)=5:3,606@ (a2 + b?) : (a2 - b2) 668 ?
A)17:15 ~ B)25:9 . Q4:1 D)16:1
22. HoW many numbers between 200 and 600 are divisible by 4, 5 and 6 ?
200 9@° 600 C1IGQ 6REBIT A 4, 5 IQ° 6 FIR TRIFY 26T ?
A)5 B) 6 | C)7 D)8
23. The maximum length of a pencii that can be kept in a rectangular box of dimensions
of Semx6cmx2cmis? Techofworld In
8 cm x 6 cm x 2cm @98 ZINORIRIN QF G06a 28 6Q416Q @60 RA UM
QYRR ? |
A) 2413 cm B) 2/14 cm C)24J26em D) 1042 cm
24. A and B started a joint business. A’s investment was thrice the investment of B and’
the period of his investment was twice the period of investment of B. If B got Rs. 6000
as profit, then what will be the 20% of total profit ?
AG B NQIQIGreQ 661G QUL 2R KEM | ‘A’ 6660 '@l SICIR Ml V1Ll B’ O@IQ 3 Q&I g
e° 6960 G AR YTIRYR 912 ‘B'Q USRSl A9 AINIQ gRgE IR | 98 ‘B’ 6QF
MRYIAQ 6000 @l MR AR, 6069 A MY AL 20 6@6C 699 ?
A) Rs. 5000 | ' B) Rs. 8400
C)Rs.3500 - D) Rs. 4500
P-II-MABCS-JCJA-18 | 4 | ' P.T.O.
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25. By selling a table for Rs. 350 instead of Rs. 400, loss percent increases by 5%. The cost
price of the table is ? :
6GIGN 699RY 400 GFIEQ FaQl AAR6R 350 FRIsa FaRIQ F96ael 5 HE @Al | 696
60YmQA @4l CImY 6@6G ?
A) Rs. 435 ‘ B) Rs. 417.50
C) Rs. 1000 | D) Rs. 1050
26. When 50% of one number is added to a second number, the second number reduces
- to its four-thirds. What is the ratio between the first number and second number ?
6960697 6915\ AR §109@! 50 §91A AYQ AT 6T 99,5010 AR % 2lodIae| 6LIRWIN,
6669 T AYQ N&° §O10 A FIER YGAIS 6R60 ?
A)3:2 B)3:4
Techofworld.In - |
C)2:3 D) Data inadequate
27. What is the smallest number by which 3600 must be d1V1ded to make it a perfect
cube? :
609 YOO AN FIR 36009 QT F6R 12! 665N GLAFAH 62IQAITR ?
~A)9 _ B) 50
C) 300 _ - . D)450
P - ——2? ) 7’ = A
28. Ifp:q=3:4andq:r=8:9,thenp:q:r= ? 2RI S
.ﬂ@p:q=3:4\’1@°q:r=8:9§\'],606@p:q:rGG?G@? \ '%
A)8:6:9 ~ B)9:8:6
C)6:8:9 D)3:32:8
29. On a certain sum, the simple interest at the end of 121 years becomes % of the sum.
What is the rate of interest per annum ?
93 6Q193 RN ARG 121 Qd 64196Q IR % 94, 6969 QIR QIRQ YA 6Q6E
62 ? | |
A) 4% B) 5%
Q) 6%  D)8%
P-II-MABCS-JCJA-18 | ot 0 — ég:i,e

— old o .- Y_ 1 . s ol e
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30. What is the smallest positive integer which when multiplied by 392, gives a perfect
square ?

609 YOO AR G4 Qg 392 FII 6R G121 I8 G4 Q6i6q AT 629 7
A)>5 . B)4 .
C)2 D)6

31. The marked price of a TV is Rs..16000. After two successive discounts it is sold for Rs.
11400. If the first discount is 5%, then rate of second discount is ?

69151 T.V.Q A6 €4 16000 661 | 906 9@ G2I5 @6a T.V.§ 11400 169 §& 62qI | Q@
T.V.Q g2¢1 Q215 §16QQ1 5 94, 666Q §016 FIGR 2R 6@64 ?

A) 15% B) 20%

C) 30% Techofworld.In s,

32. In an election between two candidates, the candidate who gets 30% of the total votes
polled is defeated by 16000 votes. What is the total number of votes polled ?

@ 591960 90 B¢ QI 2R | 6AQ gidll T2l ARSI AYQIG 691 Q S8R 30 AT AIRYER,

6d 16000 6QISER TIRTER | 6569 AL 6063 ERIR 6QIT 6ARYER ? w1
V6o~

A)24000 B) 28000 | BT ::;"

C) 30000 D) 40000 e - fwﬁ;‘a

33. A car travels a certain distance from town A to B at the speed of 42 km/h and from
town B to A at a speed of 48 km/h. What is the average speed of the car ?

691G\ Q9 A2Q A 0IQ 990 B 90Ig @i 42 km 6Q66Q 21596 @6Q \YQ° A2 B OIg Q2q
AQ 900Ig 9Ig 48 km 69660 2TRF @64 | 6669 QAR A J6 AR 636 606 ?

A) 45 km/h B) 46 km/h
C)44.8 km/h D) None of the above

34. ’A’sold a watch to ‘B’ at 40% gain and ‘B’ sold it to ‘C” at loss of 20%. If ‘C’ bought the
watch for Rs. 432 at what price did ‘A’ purchase it ?
‘A’ 661G A8 96REI 40 AIACA ‘B’ 77 @RI Ie° ‘B’ 6QF AP 9099l 20 A66a ‘C'Y
GaARI1 98 ‘C’ 628 AQ 432 CFI6Q RARI, 656Q 6REE TFIER ‘A" 6% ABQ FéaM ? '

(O ;
A) Rs. 385.71 B) Rs. 216 Bap & (Yo _ Uo~ 28
) " )R % AL = 2 r-“?/
C) Rs. 250 ‘ D) Rs. 550
P.T.O.

P-II-MABCS-JCJA-18 | y
. LB} N4 k™
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The LCM of two numbers is 48. The numbers are in the ratio of 2 : 3. Find the sum of
the numbers ? -

QRGC QA M:QAl:G 48 | 6QE QG 9RER 2QAlIe 2 : 3 | QM QR0 AGTR 6RE0 ?

A)28 | | B) 32 ' 2:&5/3{% itk
G 40 ' D) 64 ‘ Tz T

Find the last two digits of 15x37x63x51x97x17
15x37x63x51x97x17Q 6618 QRG 2I& @41 ?

A)3,5 B)4,5-
i Techofworld In Dygs

A sum of money is to be divided among A, B and C in the ratio 2 : 3 : 7. If the total
share of A and B together is Rs. 1500 less than C, what is A’s share in it ?

6163 PR AB B CAIER 2 : 3 @ 7 2gIS6a QIS @QPRIa gall 9@ ‘A’ G ‘B'a A7qia
2°8 ‘C’'Q QAYQIB 21°F0IQ 1500 SR 9F 61NN 606@ ‘A’ E°GRIF 6R6ES ?

A) Rs. 1000 - B) Rs. 1500 /

C) Rs. 2000 ‘ D) None of the above

Rama purchased a mobile at 1—3-th of its selling price and sold it at 10% more than its

cost pfice. Find the gain percent ?
QIF1 691G 6FIRIRAG IR AR _13_0 6QQ @Al IQ° @4l IR F0RE 10 2XREQ IG QR |

606 G’ F0RG! 6860 RIN 62RI ?
A)15% . B) 5%
C)9% | D) 10%

The difference of simple interest from two banks for Rs. 1000 in 2 years is Rs. 20. Find

the d1fference in rate of interest.
1000 1A @G QTR GG aidia 2 GEi6R 20 951 626 6AFINTA G 2R TR 6368

6897 » .,
A)2% B) 1.5% C) 1% D) 2.5%

The sum of money that will give Re. 1 as simple interest per day at the rate of 5% per

~ annum, is-?

606 FJReIA Qi@ SI66E! 5 210 AARGMER B9Q I 1651 629 7

" A)Rs.730 B) Rs. 3650 C)Rs.7300 D) None of the above

P-TI-MABCS-JCJA-18 i
N ind . . | L oane urtle
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MATHEMATICS
SECTION-B : 20 Marks

Instructions : Each question under this section carries one mark. Please read each question carefully
and answer them by selecting the right one out of the multiple answers given below each as A, B, C

and D.
41. IfA:B=3:4,B:C=5:6andC:D=11:9, then whatis the value of A: D ?

Q@A:B=3:4,B:C=5:699°C:D=11:99Y,606Q A : D 663 ?
g 9 (105
A) 50 : 60 B) 55: 72 C) 60 : 70 D) 65 : 75 <6
(bl
90,34

42. The ratio of two numbers is 5 : 6. If their HCF is 4, then what will be their LCM ?

9RG QEIQ AFAIS 5 : 6 | 4G 6AANRFR 9.LY). 4 $9, 666Q 6AFIFTR A.A1.G 6R6S ?
D) 150

A)90 B) 96 Q) 120
. 20 i
43. Ifp*- = (p-q) {(p - q9)>xpq}, then the value of x is ?
AGp3-qd=(p- —q)- 0, 6069 X Q FJRY 6960 2 | i
pP-g= (-2 {P-axpd & X 8.8 M?,
A1 B) 3 C)-3 D) -1 =l

44. Find the value of V152 +11x32 ? -
Techofworld.In 75747 750
V152 + 1_1>< 32 Q ﬂ_ﬁh‘i Q6o ?

s
A)18.25 B) 19 C) 18 - D)195
- 45. The sum of the square of two numbers is 100 and the square of the1r d1fference is 28.
The product of the two numbers is ?
L
Q@G‘ YR 99IQ AN 100 9L° 6P Qo 289 28 | 6QF Q@G‘ QI JEITR 6R6CS 7 LAt
A) 42 " -~ B)44 C)46 - D) 48 ”‘i?f(;;/
46. If 4 of 3 of 2 of a number is 45, then 30% of the number will be ? | o
6aQ aBIa g a % a -g- Q 417 45 0, 6969 698 LR SRS 30 6966 629 ?
A) 216 B) 162 C) 612 D) 621 |
| 47. What will be the total Compound Interest for 9 months on Rs. 8000 at the rate of 20%,

if the interest is compounded quarterly ?
8,000 §FI6Q 20% 9998 QYNGR 9 AIAQ 67T 9GQE Y 6R6T 629, AT 3 AIAG AR

3AIQ QAULIN ? -
_ A)Rs.1,250 B) Rs.1,258 C) Rs.1,261 D) Rs.1,270
.II-MABCS-JCJA-18 : P.T.O.
A A V4 — f_\., 1 A .~

A
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48. The average age of three boys is 15 years. If the ratio of their age is 3 : 5 : 7. What is the
age of the oldest boy ?

5399 ARIFQ YRIIA 99 15 9d | 98 6aFIREA IAAQ AGAIF 3 : 5 : 7, 656@ AOIY UL
QARIQ Q0 6Q6E ?

A) 7 years B) 14 years C) 20 years D) 21 years

~ 49. Two successive discount of 20% and 10% are equivalent to a single discount of ?

691G GRY QU6Q AT SIS daie 20% B 10% 9696 26Q AaIG 6Q6m QIR I0PC] 6@6R B

ReeaRaaRss?  Techofworld.In
A)26% B) 28% C) 29% ] D) 30%

50. A sum of Rs. 782 is dlstrlbuted among P, Q and R in the ratio of = 5 — What is the

amount that R will get ?

3\

782 651 P, Q B R F1I6Q) %:%:% 21gAI6a Q1@ S2lISIRI, 6969 R 6966 SHICIRAG ?

A) Rs.153  B)Rs.305 C) Rs.453 D) Rs.306

51. A person bought two T.V.s. He sold one T.V. for Rs. 3450 and got 15% profit. He sold
the other T.V. at a loss of 10%. If he has no profit or loss all total then what is the
selling price of the second T.V ? :

F641 6RI8 @G T.V. @4, 635G 3450 6= 60 3@ @A 15% MIQ K6M G 2R49Q 10% A36x /7
@6 | 9T 69116 RUEQA FIFQ @E AR T[T 62IR | 219, 6669 Fol1a T.V. Q@@ﬂfﬂw 6R6R ?
A) Rs. 3450 B) Rs. 4000 C) Rs. 4500 D) None of these

52. Ramesh gdt 65% marks in English, out of 70 he got 47 marks in Mathematics and out

- 0f 45 he got 31 in Science. In which subject he had done well ? .

Q618 R°QAURIER 65% ACIQ, FEIGEQ 70Q 479 B FRIQER 45@ 31 @ Q¥R 6Q gea

12313 62 STACH AR G?QEJ@I ? ;
A) English B) Science C) Mathematics * © D) None of these

53. If 15% of A is equal to 20% of B, then 25% of A is equal to what percent of B.

QG AQ §9@3! 15,Ba 60621 20 A2 AFIQ 99, 6961 AQ S09@! 25,89 9991 6966 Q2 AAIR
699 ? ' |

A)30% B) 33%% Q) 35% D) 25%

P-II-MABCS-JCJA-18. . |
- - J.L ' K .AIDD o 12416 £1% :,éﬁ _ At



13

54. If simple interest at the rate of 4% per annum for 2 years on-a sum is Rs. 80, then
compound interest on the same sum for the same period at the same rate will be ?

Q@ 6@l6d PR JORR| 4 QARER 2 Qg AR 80G'w1, 6069 698 JmIa 648 AN F12IER

6Q@ Qo 2IRER IR QI 6066 629 ?

A) Rs. 1081.60 B) Rs. 81.60 C) Rs. 160 D) None of the above

55. Find the sum of first 50 odd numbers. TeCh OfWO rI d I N

gaIel 50 21gQ QMR 6AITTR 6R6S ?

A) 6250 'B) 2500 - -C) 2520 D) 2450

' 56. In a division, divisor is 12 times of the quotient and 5 times of the remainder. If the
remainder is 48, find the dividend.
60lGNg @IQ@QIGQ Llaw @IQO’QQ 12 g8 G QIR 5 %lé]IQQ QUESY 48 ¥ 6LRQ WITY

6@60 ? . . \ q(v’ / CU,,mm[ w
A) 4848 B) 676 C) 250 D) 5800 , A

57. The sum of all the perfect squares between 120 and 230 is ?
120 Q 230 €1RIEQ 2RI AAY GIRTR AR 6@63 ?

- A) 855 B) 900 Y 850 : D) None of these
58. The sum of two numbers is 384 and their HCF is 48. Find out the difference between
two numbers ? 2%
Q@G‘ A CLICITR 384 Q° QGYIFAQ 61.41.Q). 48 | 606Q L°GHHIE CIRIEQ 2B 6R6R ? g d )
6
A) 100 B) 192 C) 288 D) 336 ﬂﬁfz
15N

59. LCM of three numbers is 720 and their HCF is 3. If the first number and the second W o
number are 15 and 36 respectively, then what is the third number ?

SeqId arenia R.91.9. 720 6 6.Q1.4. 3 | 9@ gaF 8 §o10 A°HMIFH 15 6 36 QAR 696@ GO

QHNIT 6966 ? T
A) 42 B) 45 - Q4 D) 54
60. If2‘x=3}}and4y=52,thenwhatisthevalueofx':z? ‘ | U |?,(7 (2 =(52
QG 2x = 3y 9Q° 4y = 5z §4, 6669 x : z = 6@6G ? o
A)3:4 B)8:15 C)15:8 D)4:3
P-II-MABCS-JCJA-18 P.T.O.
oivés = 4@:“”“\“7 4% 'M/?;__E/ o e



